

Amir peyl

ساده و زیاده

۲۰

تغییر علامت

اگر
① $\log_n^m = a$

$\log_{mn}^{m^2n} = b$

$[b] = ?$

$\log_{mn}^{m^2n} = \log_{mn}^{mn} + \log_{mn}^m = 1 + \log_{mn}^m$

$= 1 + \frac{1}{\log_n^m} = 1 + \frac{1}{\log_n^m + \log_m^n} = 1 + \frac{1}{1 + \frac{1}{a}} = b$

مواب کسر متعادل از یکدیگر

$[b] = 1 + \left[\frac{1}{1 + \frac{1}{a}} \right] = 1$

② الف) $y = \sqrt{\frac{n}{\log \frac{1}{x}}}$

$\log \frac{1}{x} = 0 \rightarrow n = 1$

$n > 0, n \neq 1$

$\frac{n}{\log \frac{1}{x}} \geq 0 \Rightarrow \frac{0}{-} + \frac{1}{-} \Rightarrow D_f = (0, 1)$

ب) $y = \frac{\log e^{(n^2 - n - 2)}}{\sqrt{n^2 - 1} + 1}$

$\textcircled{1} \cap \textcircled{2} \Rightarrow D_f = (-\infty, -1) \cup (2, +\infty)$

$n^2 - n - 2 > 0 \rightarrow (n - 2)(n + 1) > 0$ $\frac{-1}{+} \frac{2}{-}$ $(-\infty, -1) \cup (2, +\infty)$ ①

$\sqrt{n^2 - 1} + 1 \geq 0$

$n^2 - 1 \geq 0 \rightarrow n \geq 1 \quad n \leq -1$

$\frac{-1}{+} \frac{1}{-}$ $(-\infty, -1] \cup [1, +\infty)$ ②

$$r \log_a^a + \log_a^{\sqrt{2}} = r \quad r=9 \quad (1)$$

$$r \log_a^a + \log_a^r = r$$

$$r \log_{r^r}^a + \frac{1}{\log_r^a} = r$$

$$\log_r^a + \frac{1}{\log_r^a} = r \rightarrow t + \frac{1}{t} = r$$

$$t^r + 1 - rt = 0$$

$$t^r - rt + 1 = 0$$

$$(t-1)^r = 0 \rightarrow t = 1$$

$$\log_r^a = 1 \rightarrow a = r$$

$$\log^{\frac{9}{18}} \approx 0.5, \log^r \approx 0.13 \quad (2)$$

$$(\log^{\frac{9}{18}}) x^r + (\log^9) x - \log 18 = 0$$

$$(\log^a - \log^r) x^r + (r \log^r) x - (\log^r + \log^a) = 0$$

$$a+b+c=0 \rightarrow x=1$$

$$\log_{\frac{18}{18}} = 1 + \frac{11}{r} = \frac{12}{r}$$

$$\rightarrow x = \frac{c}{a} = \frac{-(\log^r + \log^a)}{\log^a - \log^r}$$

$$\frac{-(\log^r + \log^{\frac{1}{r}})}{\log^{\frac{1}{r}} - \log^r} = \frac{-\log^r - \log^{\frac{1}{r}} + \log^r}{\log^{\frac{1}{r}} - \log^r - \log^r} = \frac{-0.5 - 1 + 0.13}{1 - 0.13 - 0.5}$$

$$= \frac{-1.37}{0.37} = \frac{-11}{r}$$

$$\log_{12}^{10} = ?$$

$$\log_2^2 = \frac{10}{2} = 5$$

$$\log_2^2 = 10, \log_2^2 = 10 \quad (4)$$

$$\log_{12}^{10} = \frac{\log_2^{10}}{\log_2^{12}} = \frac{\log_2^2 + \log_2^6}{\log_2^2 + \log_2^4} \quad (5)$$

$$= \frac{1 + 2}{1 + 4} = \frac{3}{5} = \frac{3 \times 6}{5 \times 6} = \frac{18}{30} = \frac{18}{30}$$

$$\log_2^2 = \frac{10}{14}$$

$$\log_2^2 = 1.4$$

$$\log_2^2 = 1.5$$

$$\log_{10}^9$$

$$\log_{10}^9 = \frac{\log_2^9}{\log_2^{10}}$$

$$\log_2^9 + \log_2^2$$

$$= \frac{1 + \frac{10}{14}}{1 + 1.5} = \frac{1.7}{2.5} = \frac{1.7 \times 2}{2.5 \times 2} = \frac{3.4}{5}$$

$$\log_{12}^{10} =$$

$$\log_{12}^{10} = m \quad (6)$$

$$\log_{12}^{10} = \log_{12}^{10} = \frac{1}{10} \log_{12}^{10} = \frac{1}{10} (\log_{12}^2 + \log_{12}^8) =$$

$$\frac{1}{10} (1 + 2 \log_{12}^2) = \frac{1}{10} + \frac{2}{10} \log_{12}^2 = m \quad (7)$$

$$\log_{12}^2 = \frac{(m - \frac{1}{10}) \cdot 10}{2} = \frac{10m - 1}{2}$$

$$\log \frac{1^r}{2} = \log \frac{1^r}{r} = \frac{1}{r} \log 1^r = \frac{1}{r} (r \log r + \log r)$$

$$= \frac{1}{r} (r + \log r) = 1 + \frac{1}{r} \left(\frac{r^m - 1}{r} \right) = 1 + \frac{r^m - 1}{r}$$

$$= 1 + \frac{r^m}{r} - \frac{1}{r} = \frac{r^m}{2} + \frac{r}{r} = \frac{r}{r} (m+1)$$

$$(9r)^{r_{n-1}} = \left(\frac{150}{r} \right)^{r^r} \log_{\wedge}^{(9n+1)} \quad (1)$$

$$\left(\frac{r}{a} \right)^{r_{n-1}} = \left(\frac{a^r}{r^r} \right)^{r^r} = \left(\frac{a}{r} \right)^{r^r}$$

$$\left(\frac{a}{r} \right)^{1-r_n} = \left(\frac{a}{r} \right)^{r^r} \rightarrow r^r = 1 - r_n$$

$$r^r + r_n - 1 = 0$$

$$a + c = b \rightarrow x = -1 \quad \text{Q. Q. 2}$$

$$x = \frac{-c}{a} = \frac{1}{r}$$

$$\log_{\wedge}^{9 \times \frac{1}{r} + 1} = \log_{\wedge}^r = \log_{r^r}^r = \frac{1}{r} \log_r^r = \frac{1}{r} \times r = \frac{r}{r}$$

$$\log_{r^r}^b = \frac{r}{r} (1+a), \quad \log_r^r = a \quad (9)$$

$$\log(rb - 1) = ?$$

$$\frac{1}{r} \log_r^b = \frac{r}{r} (1 + \log_r^r) = \frac{r}{r} (\log_r^r + \log_r^r)$$

$$\frac{1}{r} \log_r^b = \frac{r}{r} \log_r^4$$

$$\frac{1}{r} \log_r^b = \frac{1}{r} \log_r^4 \Rightarrow b = 4^r = r^4$$

